8.  A clay lens exists within a shallow sandy aquifer.  The lens is extensive, and typically about 5 m thick.  Heads in the sand aquifer were reduced abruptly for the purpose of construction dewatering.  On average, the reduction in aquifer head was about 7 m.  Because of this drawdown, the clay compressed and the ground surface subsided.  A typical record of ground subsidence vs. time is shown in Figure 5.29.  This data is available for download at the book web site. At the location of this record, the ground ultimately subsided 6.5 cm after 2 years of dewatering.

a) Estimate the compressibility $\alpha$ of the clay lens.

b) Estimate the vertical hydraulic conductivity $K_z$ of the clay lens.
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Figure 5.29
